Canada's New Government

Prime Minister of Canada Stephen Harper
Dear Mr. Harper!

For Canada, a country with huge unexplored territories, the question of population growth is one of the primary ones. This problem can be solved by increasing birth rate or attracting immigrants. But either way simple growth of population shouldn’t be the final goal. Rates, dynamics and quality of economy development are mostly defined by the education level and social protection of the population, confidence in the safety of our future. 

For a complex solution to the raised issues, I would like to offer the following variants: 

First of all. With the birth of a first baby, the government pays a single grant in the amount of 10,000 Canadian dollars. With the birth of a second child – 12,000, third – 14,000 and so on. The growth of the amount will stimulate birth of a bigger amount of children in families which in turn will objectively require a bigger house, more spacious vehicles, a babysitter and so on. The necessary amount of money given can be easily identified by simple calculations and available size of the government budget. 
Secondly. With a birth of a child, government opens a savings account in a bank and puts a fixed sum of money, so that when he is 18 years old, he will have approximately 50% of what he needs to pay for tuition. This sum will not be given to the child, but can be transferred to a college / university when the child is accepted. If the child does not want to continue his education at a university / college after high school, then this sum can be invested in his own business or in buying a share of another private business, or in purchasing public shares of Canadian companies. 
There should be one condition – business, shares of business cannot be sold in less than four years after purchase. This way, every child that reaches the age of 18 has an equal opportunity to invest in themselves, meaning in their education, or in their business or shares of corporations, which guarantee their financial stability. It is important to mention that during those 22 years (18+4) the money allocated by the government will not be straightly thrown in commodity thus will not increase inflation, but at the same time will work on economy (through banks, universities or colleges, private companies or shares of public companies). Strategic benefit for the government from the today's point of view, and from the point of view of the future is obvious.
Certainly, offered variants need more work on the details. However, if this offer principally has caught your attention it can be possible to continue working on it. 
I hope that my offer will be useful for Canadian citizens. 

With respect, 
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Konstantin Y. Smolentsev
Doctor of political science, the Academician of IIA,

Certified Management Consultant (CMC) 

in accordance with the Amsterdam Standard of ICMCI
Ottawa,  September 7, 2006                                                                http://www.smolentsev.com         
